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In the manuscript “The number of linear extensions of the subset ordering”
([1]), the authors use the facts that
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However, they do not offer a proof, simply commenting that “standard com-
putation” leads one from Stirling’s approximation inexorably to these bounds.
Here we provide the missing argument, which the present author found rather
difficult to reproduce.
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since the sum of all terms outside the range r ∈ I = [n/2 − n.6, n/2 + n.6]
amounts to O(2nn log n · e−n1.2/2n) = o(2n) (by a standard Chernoff bound).
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When |s| ≤ n.6, the quantity n · s3/n3 is O(n−.2), so the final term in this sum
can be absorbed into the o(2n), leaving
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